
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

NH/GEN Hook40-130011

NH/Gen Lock Plate40-190012

300 Saddle20-101113

300 Ellip Saddle20-1012E14

400 Saddle20-101315

NH/GEN FM Bushing40-190116

1

1

2

2

A A

B B

1

2

6

3 or 4 or 5

2145,2160

Bolt List

QTY Description

Placement

8

3/4 x 2 1/2 Bolts

Hook to Saddle

1

3/4 x 3 Bolts Lock Plate to Weight Bracket

9

3/4 in Lock Washers

9

3/4 in Nuts

2

1/2 x 2 Bolts

Lock Plate to Hook Bracket

2

1/2 in Lock Washers

2

1/2 in Nuts

2

Nylon Straps

Tank to Saddle

Front Mount

Buhler Versatile

 (Genesis)

Price List
300 gal w/Tank $2245.00

300 gal Elliptical w/Tank $2554.00 
400 gal w/Tank $2595.00

Limitations may apply.  Please 
consult API Sales
at 800-288-1117.

300 ID:  NHB-GEN-9310-FM-300R
300E ID:  NHB-GEN-9310-FM-300E
400 ID:  NHB-GEN-9310-FM-400R


